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allunitsin CGS

Yr

1000 AU

=
1

r=1.496 % 10%°

1.496 x 10

r.2

2.23802 x 1032

M = 1 Solar mass

M=1.989 %103

1.989 x 1033

G=6.67%10"8
6.67x10°8

T =1000K

sound speed c (cm/ s)

1.4%1.38+1071% 41000

1.67 % 10724

340 130.

r*c?
e[S
GxM

13.0455

u=.0035
0.0035

{({A—>4.06841})

Clear[A]

. (G+M)?
rcrit= —————
8xUuxclxr?

2.40652 x 1014
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insol= vout = ucC

outgol= 1190.46

A this is the value solver should give...
(except this is scaled -- need to check computational unit value)

rhoout (g /cm”3)

ne= rhoout = 1.6737 » 10724 % 10 000
oufsil= 1.6737 x 10729

ngel= mdot = (rhoout) * vout % r2

oueel= 4.45917 x 1013

nesi= (g7 S)
out[e5]= —
s
3.154 % 107
In[77]:= mdot x ———

1.989 » 1033

our7= 7.07104 x 10711

(solar masses / year)

n74= T.07 %+ 10711 % 101°
out74l= 0.707

C2/(.4)
nis7- Kadiabatic =
rhoout

oue7= 2.71988 x 1047
vout? cZ2 G=xM
+ — -
2 .4 r
ouigsl= 2.80354 x 10%1

inssl= B =

(G+m)?
4 x Kadiabatic » mdot

noo}= Aa =4 % B %
outol= 4.06841

ne1= rscale = rhoout

oufel= 1.6737 x 10729

ne3= lscale = r

oues= 1.496 x 1016
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no4:= tempscale = 1000
out94l= 1000
(G * M) (G * M) 2

In[454]:= FC = *
2 4 x Kadiabatic » mdot

outasa- 2 .40652 x 1014
nese- reCU = re /1scale
outias3= 0.0160863

GxM
2

In[448]:= rbondi =
C
outasgl- 1.14675 x 1013

Ahow to interpret this if it changes with radius ??

nizso)- rbondiCU = rbondi /1scale

out4491- 0.0766546

in4s01= dxmin = .03125
out4s50= 0.03125

niiz- M/ rhoout / r3
out113l= 35494 .6

A this is computational mass of sink particle
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